SECTION -1 : General Awareness FIr-1: WW( -

. agfed ©
Ql  The Chairpersons of the Panchayat Q1  ¥g=eg3t w3 frey uad 3
at intermediate and district level are: gngugAs !

(A)  directly elected by people (wy iy B ST GETE T e
(B) elected by the panchayat (B) uUgfe3 BECH-LSH S
members o - 2; s HE @ g2 T
(C) elected by the Ilegislative =
assembly of the State _ (D) TS ST EHAE #3 e
(D)  nominated by the Governor .

Q2 A is a court’s order Q2 __ wum3 © goH I 3 A
commanding an inferior court or Jsdnt wes3 A y=Eea wEfadt §
public authority to perform an At 32 78 wifgargs 38 a9s ©F
official duty correctly. wen féer JI
(A)  Writ of Mandamus (A) HsHA S fae
(B)  Writ of Quo-Warranto ° (B) fag-zdelfae
(C)  Writ of Habeas Corpus () JA Joun <t fae
(D)  Writ of Prohibition (D) Hodt @ fae

Q3  Which of the following fundamental Q3 Jz' ffawt 5 fag Hifga witarg
rights is NOT included in Article 19 II3 AfeTs € »geT 19 f9 AHS
of the Constitution of India? Sl a7
(A) Right to freedom of speech (A)  oE W3 yErew @ IS &

and expression witrag

(B) Right to form associations or

) (B) AfTEHS TGSt HEEE T
unions =

(C) Right to practice any
(¢ foirdm, &3, u< 7 II=<

profession, occupation, trade

or business JI& T wiggg |
(D) Right to freedom of thought, (D) feog, femem w3 TaW ©
belief and religion e T Windg

M
[3]
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Q4

Q5

Q6

Q7

e e e ——
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Punjab is bordered by which Q4
country?

(A)  Afghanistan

(B)  China

(C)  Pakistan

(D) Tajikistan

According to 2011 census, what is Q5

the population growth percentage of
Punjab?

(A)  13.89%

B) 15.14%

(C)  19.76%

(D)  23.87%

Which of the following countries Q6

has the most Sikh population?
(A) Canada

(B) Malaysia

(C) Cyprus

(D)  Saudi Arabia

Who among the following certifies Q7

whether a bill is a money bill or not?
(A)  The Speaker

(B)  The President of India

(C)  The Prime minister of India

(D)  The Vice-president of India

Urre € A fom @1 s St 92
(A)  WErfsA3S

(B)

€y ufaAss

(D) 3HAfaA3®

AS 2011 T HISHEHST @ wWaAg,
e & vt @ € yFtaasr fid
J?

(A)  13.89%
(B 15.14%

(C) 19.76%

(D) 23.87%

frmmer 37

(A &z

(B) 3wy

(C) wfygy

(D) AEtwgy
3faa§fﬁ8ﬂaﬁséﬂf&ﬁ?
(A migg

(B) I3 T grEeIut

(C) 3'33?1{@3}?32’{}
B 93 & gy ey

—_—
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Q8

Q9

Q10

Ql1

Which Punjabi fo]i dance, similar to Q8

the more eminent Bhangra, is

performed by women?

(A) Jhumar
(B) Gidda
(C) Jaago
(D) Luddi
Which  among the following

princely states is not a part of India

after partition in 19472

(A) Patiala

(B)  Kapurthala

(C)  Faridkot

(D) Bahawalpur

The Upper House i.e. Legislative

Council of Punjab was abolished on

Ist January

(A) 1947

(B) 1952

(C) 1961

(D) 1970

Where is the Annual three-day

Shaheedi Jor Mela held in Punjab?

(A) Gurudwara Hari Mandir
Sahib

(B)  Gurdwara Fatehgarh Sahib

(C)  Gurudwara Baba Atal Sahib

(D)  Gurudwara Sehra Sahib

PAPER-4 SERIES-DC

Q9

Q10

Ql1

WIZ+ g 3T e g fggar UAER
39 579, 5g3 HATS 3913 @ AWG 97
A P

By foror

(C) wmwt

(D) I3

=

I fefawr fod fast fowrmg 1947 &
33 3 g 993 © A &t 97

(A)  ufewrgr

(B) FygES

(c) <Jeade

) =STesyg

(A) 1947
(B) 1952

(C) 1961

(D) 1970

NS ] wifa3 i3 mger 32

(A)  FIewar Ifres Figy

(BY 9T ef39erg mrfog

(C) JIewTr g9 WS Afay

(D) JIewT frga Afag
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Q12 Which Sikh Guru introduced Anand Q12 fan fAY IF & wide gan g &i3- 7

Karaj - which was a special kind of

marriage ceremony?

(A)  Guru Angad

(B)  Guru Amar Das
(©)  Guru Hargobind
(D) Guru Har Krishan

QI3 The most essential operation for
making the soil loose and porous to

a desired depth as per requirement

of the crop is

(A) Clod crushing
(B) Ploughing

© Harrowing

(D) Manure mixing

Ql4 is the birthplace of Q14
Khalsa, a way of identifying or

differentiating the Sikhs.

(A)  Takht Sri Damdama Sahib
(B)  Fatehgarh Sahib

(C)  Dukh Nivaran Sahib

(D)  Takht Keshgarh Sahib

QIS Which festival of Punjab
celebrated with a special bonfire?
(A) Lohri
(B)  Teeyan

(C)  Chappar Mela
(D)  Guruparab

QI3

is QIs

& fox feim yarg < fewrg & 9a #
(A)  H TG vigre

(BY T wrIerH At

(c) ¥ 3Ig ofgdfde it
(D) HIg IfSfgHs

eHs < FgI3 wigHg fifdt & et

Fwd 39 &8 w3 e gegs

SEAIIYSEH J

(A) 38 fHT=T (Clod crushing)

(B) IZTHEE (Ploughing)

(C) 3 I (Harrowing)

@) gt ue fim8s  (Manure
mixing)

__ et & ufges 7 2 yfgors,

HBH T HSH D )

(A)  SHI I overr myy

(B) ef3gargmfog
(C) Tdfsegsafog
By~ 3HI I Aoy

ﬁwaerfaaaff‘s@avawa"a?eﬁ
WA S Wi mrar 39

(W BT

(B) Sy

(C) ®sBugeasr

(D) I9ysy

PAPER-4 SERIES-DC
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Q17

QI8

Q19
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Q16 A Joint Military Exercise named Q16

«yudh Abhyas 2021” was held

between India and
(A) Russia

(B) Israel

(C) Australia

7

Q17 Punjab means a land of ' .

(A) 10 rivers
(B) 6 rivers
(C) ivers
(D) 8rivers

Q18 Which two crops are the maximum QI8

cultivated crops in Punjab?
Meat-Rice

(B) Bazra-Maize

(C) Rice-Maize

(D) Rice-Bazra

Q17

Q19 Who along with Batukeshwar Dutt Q19

threw bomb in central assembly?

(A) Rajguru

\Magat Singh

(C)  Sukhdev
(D) Lala Rajpat Rai

'APER-4 SERIES-DC

II3 W3 feggrg foa A9
Ao wigem wm wfgwrA 2021
W3 &3 famr A

w g

(B) ferafes

(C) wWHSIBMI

(D) TWAE
ﬁﬂfaem{a'a'__éu’aéfél

(A) 10 Sfou=’

(B) 6 Tf=’

@y sefret

(D) 8 Tfowr<r

e fo9 fagd S Ret & A9 3
< 93t St A 97

(A~ FEI-B

(B) EHI-Hell

(c) Bor -Hell

(D) T&-EEI

Fegw wigg &9 Scaned €3 ©
& fans €9 Hfe?

(A) IHdd
(B) I3 fiw
(c) THER

() BT ITYI IE

[7]
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Q20  Konark Sup temple is situated in Qp0 FzeaFIAHed oAz

Q24 The
it (A)  HOYRH invisi
(A)  Madhya Pradesh (B) '/a-r;m@?; harm{
(B)  Raj

) ajasthan (C) WIETTS yeH from
&
(C)  Arunachal Pradesh (D) &I (A)

\D»Odisha B)

Q21  Pattachitra art form is native to Q21 yefd39 a&" T Y& I fefamr feg

which of the following states? faggr a= I? EE))
\())/ Odisha (e~ G Q25 Unde
(B)  Assam (B) WA articli
(C)  Uttar Pradesh (C) €5IyRm does
(D)  Andhra Pradesh (D)  wTIryeH powe
Q22 Sand dunes are found in which part Q22 mg @ fam R T I3 @ &g yn Z‘;TZ
of Punjab? . Ae J5? A)
(A)  South East (A) THzugw (B)
(B)  North West (B) €33ven ©)
(C) North East ey €539 yag (D)

W West (D) T vy Q26 Whic

the
Q23 World’s largest solar tree has been Q23 T&Wr ur Hy ¥ ¥gr Asg &t (solar e
- states
installed in which state of India? tree) 3793 © 97 I 9 mayz dor panc]
(A) Uttarakhand "3 powe
(A)  G3andz A
(B) Assam = W)

(B)  wmmy (B)
Mt Bengal = i X (C)

(D) Rajasthan (D) ()

. PAPER4S
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——
Q24 The layer acts as an Q24 g3 fed wifeH o

invisible shield and protects us from IH gt F w3 7S HIH Fr g
harmful ultraviolet (UV) radiation TRags  ugdas fagst (UWY)
from the sun. HSTE I
(A) nitrogen (A)  TEIS
(B) argon (B) WIS
\We €y &%
(D) methane (D) iEs
Q25 Under which of the following Q25 dJ fifgwi f&J gra=t Afeus € faA
articles of the Constitution of India wgaT 3fJ3 AU dae a8 ST
does the Supreme court have the © A" witergt § &1 396 38 f&a
power to issue a writ for the fSe 7t 595 e wifgarg I?
enforcement of fundamental rights ,(A’)/ weSRE 13
of a citizen?
; (B) WgsT 14
(A) Article 13
(B) Article 14 (C) migeT 21
(C)  Article 21 (D) WIET 32

(D) Article 32
Q26 Which of the following articles of Q26 I3t Hfeas T I & &9 faazr

the Constitution of India directs waee I § IH Uehest § afsz
states  to ‘organize  village FIs w3 BT § "I e © fooew
panchayats and endow them with féer J?

power’? (A)  WEEE32

(A) Article 32 i s

(B) Article 36

(C) Article 38 (C) WEsT 38

(D) Article 40 (D) WERE 40

H
PAPER-4 SERIES-DC [9]
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Q27 Where is Partition Museum located Q27 yrgdHe. e B Q30 Which of tl

in Punjab? Fﬁf" 37 caused by fu
(A) Ludhiana (A) 18 A (A) Ring
B Chol
B) Patiala @) U i
(C)  Tube
C)  Chandi j
(C)  Chandigarh (c) ECES (D) Covic
Msar - ®r LIGELE] Q31 In Laws of
Q28 Which Punjabi Singer sang the Q28 HWHAZY 3 RIS s [T fam angle of inci
popular song "Jai ho"? Ve A & arfemr? (A) ‘tothe
; - A a B to th:
\innder Singh - (A Bl fiy B tothe
: (C) tothe
(B)  Arijit Singh 7
jit Sing {B)  wiHE T D) tothe
(C)  Gurdas Maan (C) TITHHS Q32 Waste that ¢
(D)  Sardool Sikander - B T
N environmen
Q29 Which  scheme by Punjab Q29 UAg AIaT T fSTF A Sgmarg
government will provide the jobless fonagd & AR g9 @ B8 3 AT L Sl
individuals to get subsidy on yJmr Tt &t ydie s96 3 At (B) ey
purchase of 3/4 wheeler vehicles for féet 7 (©) blue
self employment?
(A)  Ghar Ghar Rozgar Scheme (A) T wg Irarg Fefhs by il
i i 33 Who four
\(VApm Gaddi Apna Rozgar (BY w5t 5 3 Q
S Jisft ' Anjuman-i-
cheme
(C) Punjab  Chief  Minister (C)  mg P fifsAea Aarsafiy B s
Scholarship Scheme A (B) Rys
(D) Mera Kam Mera Abhiman D . : =
) NI &N AT wfsHs AEH (D) Gur
Scheme
PAPER-4 SERIES-DC : IF]_ PAPER-4 SERIES-
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Q30  Which of the following disease is Q30 fost 55 fyg=t st ©5 @ a6

caused by fungi? I 32
(A ing Worm ( A/)/ o
(B) Cholera B) I
(C)  Tuberculosis ©) 3Iufex
(D) Cov1d-19' D) Sfem-19
Q31 1In Laws of reflection of light, the Q31 ygm ?¥ ygegzs @ fomr &9,
angle of incidence is equal . WFdE R EgEg ger dl
\@/to the angle of incident ray (,e()/ WU fags @ as
(B)  tothe angle of plane (B) 3TV
(C)  to the angle of reflection (C) yIegsseds
(D) to the angle of refraction (D) "WU=I3sT e
Q32 Waste that decays naturally andina Q32 g gfie- Hge H Feddt 39 3
way that is not harmful to the feufes €t 3 w3 fom 398 &5 69
environment is called . TITIE BE FIAAGETER &I e,
(A) green waste BRI Sh R
CYI | [
(B) recycled waste By Gk s
(C)  blue waste (C) afgg =9 red
(D)  soil waste (D) #fes W
Q33 Who found the literary club, Q33 ATJ3 B WgHa-B-UAE & AaES
Anjuman-i-Punjab? fermss S3t?
\Mr Gottlieb Wilhelm Leitner (A) . Jiefey fegar feesg
(B)  Raja Harbans Singh (B) I+ II=R fily
(C)  Rai Mul Singh (cr T8y fihw

D) G kh Singh —
WA PR (D) T fr

——————————— e ———
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wo - R T \

Q34 Human heart has how many Q34 W& fes T s s I I5?

chamber/s? Q37 The given
(A) 3 obtained fro
(A) 3 distribution
B) 2 (B) 2 examinees. '
precisely kn
© 1 (cy 1
"
o or -y
. 35 4
Q35 The Chief Election Commissioner Q35 I93 ¥ W T AT § 2 30
of India can be removed from office VT HIeH A9re I uet 3 %’- iz
only through the impeachment by Jerfen 7 AEeT I B E
5
(A)  HAe g
(A)  Parliament R B
(B) IwHcIUSt
(B)  President ; (A) Cum
(C) Prime Minister (©) Iz (B) Linc
(D)  Supreme Court (D) AUIH AT (C) Box
SECTION -2 : Quantitative Aptitude and IU-2: HITIHF ST w3 (D) Fre
Numerical Skills AR gsg Q38 When apl
Q36 A student multiplied a number by Q36 f¥x fefonwrgst ¥ fig At & 11/5 & owner los
5/11 instead of 11/5. What is the " 5/11 &% gE atgn uaﬁ-;ﬁ aét i
dl e
approximate percentage error in the JES 9 woHss Y3 334 g gain 20%"
calculation made? J? A 22
(A) 51% (A)  s1% B) 21
(B) 42% (B) w2y ©) 22
Cc o A
(C)  79.34% © 79.3ux D) 2
®7 7154
(D) 71.5%
—
PAPER-4 SERIES-DC ' — PAPER-4 SERIE
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Q37 The given figure represents data (37 ﬁjmmw é‘—ﬁﬁ:mr

45 -
40 -
35 -
2 30
5 25
Z 20 -
I 15 -
10 -
5 -
0 T T T T 1 T
445 545 645 745 845 945 1045
Scores
(A) Cumulative frequency curve
(B) Line graph
(C) Box Plot
(D)  Frequency Polygon
Q38 When a plot is sold for 18,700, the Q38

M

obtained from a grouped frequency
distribution giving test scores of
examinees. What is this figure most

precisely known as?

Test Scores

owner loses 15%. At what price

must that plot be sold in order to

gain 20%?

(A) 220,400
(B) 16,400
(C) Z26,400

(D) 28,400

PAPER-4 SERIES-DC

i cared My ST & ¢
maﬁélmméﬂg?’ﬂéﬁ

Test Scores

T T T T
445 54.5 645 745 845 945 104.5

Scores
(Cumulative frequency curve)
(B) 3y H'd" (Line graph)
(c) I fg3T (Box Plot)

(D) Tdgg3T =JFA (Frequency

Polygon)

e g uge § 318,700 ‘3 fgwr
Aer 3, 3 Wea § 15% I g Il
20% B8 Y3 I B8 GRS o fam
5 §3 2oT gdier A7

(A) ¥ 20,400

(B) ¥ 16,400

(&Y % 26,400

(D) X 28,400

[13]
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Q39 A bank offered a ypj

Abhay of 1 years, wherein the rate
of interest for the first 2 years is 8%,
that for the next S years i 12%, and
that for beyond 7 years is 159, If
the amount that Abhay paid back ¢,

the bank was ¥1.87

850 in total,
then the amount that he received ag
loan wags:

(A) X95,000
(B)  z85,000
€) 284560
(D) 293,000
Q40 The given figure represents datg

obtained from g grouped frequency
distribution giving test scores of
examinees. Estimate the median
score of the distribution,

Test Scores
45 -

40
35 -
3 30 -
S 25 -
& 20 4
i 15
10
5
Ve e B B
Scores
(A) 745
(B) 795
(C) 80.75
(D) 8225

que loan to (339 s 8 & w3 § 10 A B fig

fedve B & mam =, R g
ufod 2 At et fenr ©9 8%, warg
5 AS BE 12% W GFR I 7 A
BE 15% I Hag w3 28 g9 § Ty
mﬁmggaawﬂ,amso
3T 8RB @ 39 3 yum g
JIH i

(A) % 95,000

(B) % 85000

anaﬁélézerh@mﬁﬁa*ﬁff
U3 3]

Test Scores

445 545 645 745 @45 945 1045
Scores

(A) 745
BY 795
(C)
(D)

80.75
82.25

e —— = 4
PAPER-4 SERIES-DC [14]
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Q41 What fraction is the shaded region? Q41 erfipf 999 & fiw fid 37

Q4

SEANE

A) =
B) =
© :
D) 2

<

SEASE

(A) 2
(®) =
(D) 2

Ram works 20 hours in a week Q42 I fifg 923 (AHes 3 HE9<9) &8

(Monday to Friday). Last week he

13
worked — hours on Monday,

L

<

oy 15
3 hours on Tuesday, -y hours on

hours on

N

Wednesday, and
Thursday. How many hours did he

work on Friday?

(A) =
4
@) =
2 17
(<) =
-17
(D) -y

20 W2 i sgTr I iz I=3, €76
ik i

(A =
(8) —
© =
®r =

PAPER-4 SERIES-DC
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Q43 A is 100% more effi

Q44

Q45

B can complete a work in 12 days
working alone, then find the number
of days in which A and B can
together finish the work.

(A) 3 days
B) 6 days
(C)  4/7 days
(D) 4 days

One year ago, a mother was six
times as old as her daughter,
Presently, the age of the mother is
numerically equal to the square of
the age of her daughter. Find the
daughter's present age (in years).

A) 5

B) 4
(C) 25
(D) 16

In a group of shepherds and their
sheep, the total number of heads are
35 and that of legs are 120. The total

number of sheep are:

(A) 25
B) 10
(C) 20
(D) 30

Q44

Q45

cient than B. If (43 A, B 3 100% <03 g5 31 3 B oy

o aSfent fom o & 12 feot g ur
59 AT 3, 3 Qo' et & farest uzr
AR A B B i § usr
gd AdE TS|

(W 3fes

(B) 6fes

(C) us/7fes

(D) ufes

fBa 78 ufgst, fig wt < @vg wiust
Y3t & €19 &8 @ g Al fom m,
H & &3 Aftsia 39 '3 GFet
gﬁé%éméwél
Y33t & =93Hs vg (At &) uzr
3

(A) 5

(B &
ey 25
(D) 16

mrw?@awé»ré?éﬂt{a
T, gt & g Amr 35 3 w3 gt
< I8 Himr 120 1 337 @ s i
fefat 2

(A) 25
(B) 10
(C) 20
(DY~ 30

[16]
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Q46 By selling a table at X 2600, a Q46 fig Ag & 2600 feg 29 4, fes

shopkeeper makes a profit of 30%.
At what price should he sell the

table so as to make a loss of 30%"?

(A)
(B)
©
(D)

Q47 How much time will it take for a Q47
sum of T 1000 to give ¥ 250 as

interest at 25% simple interest per

22000
T 1400
%2100
21600

annum?

(A)
(B)
©)
(D)

Q48 A and B can complete a work in 20 Q48
days, B and C can complete the
work in 10 days, and C and A can
do the same work in 12 days. Find
the time taken to complete the work,

if all three work together.

(A)
(B)
(©)
(D)

-

2 years
3 years
1 year

6 months

8 days
6 days
30/7 days

60/7 days

PAPER-4 SERIES-DC

Ty 30 © o9 aHge Il 30%

& o wee od R W §
3 '3 2ge gder A?

(K] 2000
(B) 1400
(C) 2100
(D) 1600

1000 & fig g 3 yFt AE 25%
AOgs fonr '3 fewA @9 250 HEOG
&g fdar A BIEr?

(A) 278

s

B 3F8
(c) 1A%
(D) 6 HIS

A w3 B f&x & § 20 fest e yar
gd Aae I5, B W3 C R & § 10
fest &9 UTr a9 Aere I, W3 C W3
A €7 &1 $ 12 fost 9 a9 Fae Is
A A3 38 feds fig & & a9t Ts,
37 g1 $ YT 436 &9 I AN T Uz
CE|

(A 8fes
@ 6 fes
(c) 3o/7fes
(D) 60/7 e

[17]

Page - 15


http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com

Q49 Each side of a polygon is 2.9 cmin Q49 sggm & gag g & gad 2.9 ¢

length and its perimeter is 17.4 cm.

How many sides does the polygon

have?

(A) 4
B) 6
© 7
(D) 8

Q50  The given bar graph shows the data
of the expenses by three different
families A, B and C over five

different weekends.

%Family-A wFamily-B Family-C

W3 e ufpms 174 em 3 wgey

et S grret ge?
(A) &
(B) 6
(c) 7

sl

QS0 3" oM &9 qrg i -2 Tt

énhﬁaﬁaébr-éuuﬁe'a*A,a
nécwaﬁ?bfaﬁwﬁ?ﬁa?
TIrger I3

@Family-A aFamily-B »Family-C

What is the difference between the WEEKEIDT WEEKENDZ | WEEKEND3  WeeKeND4  weekeNo's
expense of family C in the 4% 99 923 2 iz Y ufyeg C R uygd
weekend and family B in % W3 UId ge3 @ w3 ¥y ufgeg g @
weekend? HIY g &t wizg 32
(A) 450 (A) 450
(B) 250 (B) 250
G 20 (e 200
S (D) 100

PAPER4 SERIESDC (18]
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Q51 The given bar graph shows the data Q51 i3 fymr g9 9IS U 2y-<H E)E'B”F

of the expenses by three different
families A, B and C over five

different weekends.

xFamily-A uFamily-B :Family-C

ITTSRACEN YA 500

RERET

PR RS TEENSE RONEEE 500
MRS TR % 400

R B AANEREERE 450
[ 350
ESvaesms® 250
RESTECNERERETaRE 350
AT U P AR 400

2

©
. !
L

EKEND 4 WEEKENDS

x

PRI ETISEKSRET 350
300
% PR TNAE 300

=
m
m
=
m
et
=
m
m
=
m
3
=]
~
=
m
m
=
m
=
S
w
=
m

In which of the following weekends
was the percentage of rise/fall in
expensed amount from the previous
weekends the maximum for family
B?

(A) 3" weekend

(B) 2™ weekend

(C) 4™ weekend

(D) 1* weekend

P
v o 5
© 3 §
o 8
=1
©
l ! ::‘ é i‘ ‘.
i @
WEEKE

éwﬁzameaeuufaa@/*
N?anrrafaﬁ?uafanrefm
TIAger I

=Family-A =Family-B Family-C

500

450

Tk i 300
z: 400
rICIEeRsEesE 350
mmm 450

PN AV SERITS 400

é
1}
]

EKEND 3  WEEK END4 WEEKEND 5

emxmm 350

ND1 WEEKEND2 W

m

forafsiuz Y faod ge3 @ i3 o
ufgeg B o ygo a3t gaH @8
/e & yEFiass Ugd gefanf 2
w3 &8 Wita3H At?

(A) IR TE3 TNz

(B) TRISIE I

(C) daIe3 T3

(D) ufg@Ie3 T i3

PAPER-4 SERIES-DC
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Q52 Shyam studies 3% hours daily, out Q52

of which he spends 1% hour on
Studying Mathematics. How much
time does he spend on studying
other subjects?

7
(A) 1 -~ hours

3
(B) 2 = hours

©)

1 % hours
D) 2 g hours

Q53 The average score of Shivani in 5
subjects is 53. Later on, it was found
that scores in one subject were read
as 41 instead of 51. Find the correct
average score of Shivani.

(A) 53

(B) 63

(C) 55

(D) sl

Q54 The sum of the digits of a two-digit
number is 8. The difference between
the original number and the number
obtained by reversing the digits is

18. The greater number is:

(A) 26
(B) 62
©) 71
(D) 53

Q53

Q54

Ao IS 33 W U Fer I, fiyy
f&d €T I3 UFE '3 12 we myrgr
31 69 I3 F&fir & ugE 3 far
33‘[@?"’3?

w15

8) 25

(C) 1%“??
3 e

(D) 2;we

5 fefimit i< ferst @ Wiz Wi 53
g5 gmiE 199, fog duz & firfewr f
fom s foit R T8t &8 51§ w
ug fonr famm firedt @ wet WAz wig
foids 57 |

(A) 53
(BY 63
(C) s5
(D) 51

© Wit Hftwr @ it T AT 8 Ay
R @ fegarg wag 18 1 S A
REHCE |

(A) 26
(B) 62
(e 7
(D) 53

PAPER-4 SERIES-DC e [20]
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Q55 A and B together have ¥ 2,310. Q55 A w3 g fogfont 3% 2,310 ga1 A A

4

If 15 of A's amount is equal to 5 of

B's amount, then how much amount

2

does B have?

(A)
(B)
©)
(D)

X 824
462
%2924
2624

SECTION - 3 : Mental Ability and

Logical Reasoning

4 gé—
@ gm e 15,89 I@e S
g9=g 3, 37 B I fid I I7?

(A) X 824
(B) X u62
@&y~ % 92u
@l % e2u

91 - 3 : WS BarsT w3 399 Was”

Q56 In this question, three statements Q56 fem yms f9, 56 FEs 3 gmE ©

have been given followed by two
conclusions numbered I and IL
Assuming that all information in the
statement is true, analyse the two
conclusions together and determine

whether any of them logically and

definitely ~ follow(s) from

information given in the statement.

Statement I : All fruits are good.
Statement II : All good is bad.
Statement III : All bad

vegetables.

Conclusion:

D) All bad are fruits.

II) Some vegetables are good
(A)  Only I follows

(B)  Only II follows

(C) BothIandII follows

(D) Neither I nor II follows

fife Aftpr | w3 i 11 iE3 IE TSI

fendne a3 w3 faoofas g g 2=

Freardt € 399 Has w3 ferfas 39

‘3 UBEr I JI

FEG | : A9 28, Tat Ia|

JES || : AT 94T, §97 9

FES Il : A9 g3, A"rAM I

frc:

) AI g9, S8 Is!

)  I9 A=A, I TSI

(A) =B fifer | ysE daer I

(B) =B fifer | UBe daTT I

(c) TR IW3IUBE IIe IS

oy~ & 3 fifer | I Il USE ager
3

m
PAPER-4 SERIES-DC
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5 ‘e . ¥
Q57 Which letter  will replace  the 057 fa3t aét st e {HS fB@ (?) e};

QS8

Q39

question  mark (7) in the given
series?

Nk oL P S v C !
(A) D

By g

(C) F

D) G

Which  letter  will replace  the (58
question mark (?) in the given
senes” C, 1. D.P.E.?

(A) l

(B \

(C) 3

(1))

Sclect the number that can replace ()59

‘3 fagF™ W WRT? (

P

(D) G

fest ot B e yms s () @ w
3 g™ g wrdgr?

C...D.P,E,?
(A) U
By v

(C) X

3 difene @ v I, A A& ¥ m

the question  mark 4 3
¢ que Ko(7) i the N YRS s (2) @ a3 we et )
following serie:
' L 9 'lb »",, ?
1, 4,9, 16, 25 ‘(
\ 36
(A) 36
/8/ 3{‘
(By 3§
. c’ j’J
() {)
D)
(D) =5 (‘J
B ————
PAPER-4 SERIES-IX ‘_—'—-[-:-
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Q60 A and B start from same point. A Q60 AW3B ﬁaﬁgggggrggaaéaﬁ

Q61

walks 30 m South then turns west
and walks 40 m, then turns to his
left and walks 50 m. At the same
time, B walks 80 m South. Where is
B now with respect to the position

of A?

(A) B is 40 m to the West of A.
(B) B is 50 m to the East of A.
(C) B is 30 m to the West of A.

(D) B is 40 m to the East of A.

A SE 25 30 m T 3 fog UsH &0
VT & 4o m 5T 3, fag g wE B
Ve 3 w3 50 m go 31 €A A, B
Sz 25 80 m T 3 A & A S
Hegs ffg B g A8 I7?

(A) B, AR USHIBLOmMII
(B) B,A2YITIB50m Il

(C) B,ARUESHEZ30m3Il

P B,ARYIE B 1O m Il

Three different positions of the Q61 It g It uA o s Sy-29

same dice are shown below. Which
of the following statements is

necessarily true?

P

(A) # and @ are on adjacent
faces.

(B) % and * are on opposite
faces. ‘

(C) % and & are on opposite
faces.

(D) & and $ are on adjacent

faces.

AfaSe fourdmy Ireht g1 Jat 183
a9 fagz agdt 39 ‘3 At I?

(Y % W3 & fedtht 289 Ia|

(D) & W3 $ BIR IBF TS|

PAPER-4 SERIES-DC
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Q62 In this question. a statement has Q62 fom yAS &g fig gus 3 gme e fid

been given followed by two Aty | W3 Ffer 1| B3 918 I FES
22 fiffenr o feafow ferdHE 93 w3
fsgufas a3 fx @ &S faoar fier
e g st ol AEadt € 39K
Ha3 w3 forfgs 39 '3 Use" &I

conclusions numbered I and II.
Assuming that all information in the
statements are true, analyse the two
conclusions together and determine

whether any of them logically and

definitely  follow(s) from  the 3

information given in the statements. e A Trae, Het Il JE &
Statement: All sharks are fish. No Hel, @2%’ adt 1

fish is a whale. fier .

Conclusion : | 36 W, I st Il

I: No whale is a shark. I o Frgar 25t I

I1:  All sharks are whales. (A)  des fifer | yms ager 3

A Only I follows .

) d (Ef)/aEB fifer 1| yoer gger 3

(B)  Only II follows s
() TRH I3 Iuss g5 I6

(C) BothIand II follows
(D) & 3 fHer | & Il ussr gger
(D)  Neither I nor II follows 3

Q63 Find the missing term in the Q63 Jst Rt wing Bt f¥g BT ve ugr

following letter series: 3

LKJ,  ,DCB,ZYX LKJ, , DCB, ZYX
(A) HGF «7  HoF

(B) IHG (B) IHG

(C) GHI (C)  GHI

(D) GFE (D) GFe
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Q64 Select the answer figure that can Q64 @a%aﬁgaggﬁwﬁ? ﬂ"m{r

replace the question mark (?) in the fiz oo i s @ s fdo (?) &
series given in the problem figure. T & 7 ~
Problem Fig. Problem Fig.
Y& 92| [Ye[p]2]-
A B c D E A B c D E
Answer Fig. Answer Fig. ’
B N\ | 4
ALK LAV
1 2 3 4 1 2 3 4
A 1 (A) 1
B) 2 (B) 2
© 3 €1 3
(D) 4 (D) &

Q65 Select the answer figure that can Q65 €9 €39 fo3T g& 7 Jat &3 Mmifimwr
replace the question mark (?) in the foza R &3t 83t © yms fds (7) &
series given in the problem figure. g 3 A3

Problem Fig. Problem Fig.
Al S | = Al S =
NRISS [y | =X - | WS v K| -
A B C D E A B : D E
Answer Fig. Answer Fig.
Al RN
R | AR | N | WY | AR | R | v
1 2 3 4 1 -] 3 4
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Q66  Select the option that can replace the Q66 €3 fesmy Wy -
question mark (?) and complete the 8%@3W%ﬁﬁ$mﬁw

given figure series. dJ Agwr Y, &t oW and

OB | DS

folloy

Ma

What

(A) marrie
(A)
(B)
©)
(D)

Q68  Arran,

meani

choos:

@

@
&
@ i

©

(A)
(B)
(©)
(D)

& E & @ s

(D)

e
PAPER-4 SER

PAPER-4 SERIES-DC [26]
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Q67

068

Study the given diagram carefully (67

and answer the question that

follows.

What is the number of educated
married dancers?

(A) 9

(B) 11

() 12

(D) 20

Arrange the following words in a
meaningful  sequence  and  then
choose the most  appropriate
sequence

! Preparation for match

2 Receive the trophy

3 [oss

4 Win

5 Compete
(A) 1,3: 5.8, 2
(B) 3,1,4.82

() 31542

L]
RN
-

D |35

PAPFR-4 SERIES-DC

068

3 g afep o fVeYSSS
wfils &3 w3 U an yis @ €39
fe€i

u3-fed fewd 3IHI (educated
married dancers) ©f Afemyr &t 372

(A) 9

By n
(C) 1
(D) 20

ffo feenfas a3 w3 29 3 I It
3g3ta g2

) o 88t f3wgt !

2 cJdh yu3 agsr

3 Yot | s
e ﬁt:{}" =X
5 HAHE qI5 »

(A _~1. 3,5 4,2
(8) 31,4, 5,2
(C) 3, 1,9 4, 2

(D) b duik 3

[27)
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Q69 Find the missing term in the Q69 Wﬁmwm 5y

Q70

following letter series:
be_b_cc be b
(A)  Cbbe

(B) Bich

(C)  Bbee

(D)  Ccbb

Sashi and Sakshi are a couple. Q70

Sakshi's sister Sunita is married to
Akash and is the daughter-in-law of

Hema, the mother of Sashi. How is

= 'Hema related to Sakshi?

Q71

P

(A) Sister
(B)
©)
D)

Study the following arrangement

Mother-in-law
Daughter-in-law

Daughter

carefully and answer the question
given below:

‘P x Q” means ‘P is the sister of Q’
‘P - Q’ means ‘P is the mother of Q’
‘P + Q’ means ‘P is the brother of
Q

‘P + Q’ means ‘P is the son of Q’
Which of the following means 'S is
the husband of J'?

(A) JxD-A+§

(B) J-D+AxS§

(C) J-D+A=S

(D) J+DxA+ S

APER-4 SERIES-DC

Q71

a3:
b b_cc_bc_b

Cbbc

Bceb

m Bbce

(p) Ccbb

it w3 went i fenrga w Y
et & 38 HAIF T fewrd wamy
& Jfewr 3 w3 BT FEt € o, I d
&9 31 & AAH &7 ot f9HTT 7
(A 3T

(B)
(c)
(D)

(A)
(B)

AR

f&3t I¢t 395t T fimrs & wits
a3 w3 Ist &3 Y © §39 fe:
PxQ EwIgJ P, QI
P-Q TWIHI P, QBT
P+Q TWIEI'P, QT ITY
P:Q TwIgd P QYT
Jo fefowt &9 e weg 3 s, @
ustd?

(A) g« D-A+S
(B)/J-D +AxS
(C)

(D)

J-D+A=+S
J:DxA+S

m
[28]

Q72 If the
'6495732¢
ascending
digits rem
(A) Or
B) Tv
(€ Tt
(D) Fc
Which «

figure cc

Q73

question -

+0AX|[X+0

iy L

—
PAPER-4 SERIE
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Q72 If the digits in the number Q72
'649573281' are arranged in
ascending order, then how many
digits remain in the same place?

(A) One

(B) Two
(C) Three
(D) Four

Q73 Which of the following answer Q73

figure completes the series of the

g5 LY o
AT Himr ‘6L9573281° © wal €

S0 o g feenfag iz fmr I
e wiar g €7 a3 Sfged?
W
(B) =
(c) f3s
(D) T9g
YA wigst € st § Yot aget 97

question figure?

+0AX||X+0A||AX+0|[0AX+ ?

+0AX|[X+0A||lAX+0||OAX+ ?

X O A +
(A)

+ 0O A X
(B)

A+ O X
©

+AXO
(D)

KO A 4
(A)

+ O A X

(B)

AT+ QX

(C)

+AXO
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e ‘f

Q74  Select the number that will come Q74 il A E'T%‘Eaév ﬁw@ﬁgﬁ

next in the following series. R T () ‘3w,
34,18,10,6,4, 3, 18,10, 6,4,
A) 0 (A) O

B) 1 8 1

©) 2 ; o)/z

= E (D) 3

Q75 Select the number that can replace Q75 €3 #fimr g& 7 J5F &3 BF s
the question mark (?) in the I{H?ifﬁ?j (?) S 5 & A3

following series.

6,10, 19, 35, 60, ?
6. 10, 19,35,60, 7

(A) 85 () 85

(B) 92
(C) 96 mG
(D) 97 (D) o

.

PAPER-4 SERIES-DC _
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SECTION-4 : Language Skills (Punjabi/ English) / 37914 : 3wt @ gag (imrsil wiaida)

Q76 Select the most appropriate SYNONYM of the given word.
SIGNIFICANT
(A) energetic
(B) important

(C) lustful

m)/ static

Q77 Choose the correct option which can substitute the highlighted words.

Aamir Khan’s movie, ‘Lagaan’, was a true representation of a system of one

country ruling other countries. The film showcased how the English increased

their influence over the Indians over a period of time.
(A) Internationalism
(B) Communism

(C/ Imperialism

(D) Communalism

Q78 Read the following sentence and identify the part that has an error.
A lot of people / in my country /prefers / tea to coffee.
(A) A lot of people
(B) in my country
(C) prefers
(DY~ tea to coffee

PAPER-4 SERIES-DC
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Q9 ot me e e e e o 37
(A)  Personnel

Personal

(C)  Personel

(D)  Persona

option that gives their correct order.

§1: Shakespeare is known as
,ﬁ) ablack lady

b. and his friend,

. the bard of avon;

d. his sonnets are addressed

§6: whose source is still unknown to many.
(A) deab

(B) abed

(C) dbea

(D) bead

PAPER-4 SERIES-DC —

(%

Read the following passage carefully and answer the given questions from Q 81 10

085

For four days, I walked through the narrow lanes of the old city, enjoying the
romance of being in a city where history still ives - in its cobblestone streets and its
people riding asses, carrying vine leaves and palm as they once did during the time of
Christ. This is Jerusalem, home to the sacred sites of Chritianity, Islam and Judaism.
This is the place that houses the church of the Holy Sepulcher, the place Awhere Jesus
was finally laid to rest. This is also the site of Christs crucifixion, burial and

resurrection,

Built by the Roman Emperor Constantine at the site of an earlier temple to
Aphrodite, it is the most venerated Christian shrine in the world, And justifiably so.
Here, within the church, are the last five stations of the cross, the 10th station where
Jesus was stripped of his clothes, the 11th where he was nailed to the cross, the 12th

where he died on the cross, the 13th where the body was removed from the cross, and

the 14th, his tomb.

For all this weighty tradition, the approach and entrance to the church is nop-
devout Christian pilgrims walking, along the Via-Dolorosa -The Way of Sorrow - the
frst nine stations looking clueless. Then a courtyard appears, hemmed in by other
buildings and a way doorway to one side, This leads to a vast area of huge stone

architectures,

1

PAPER-4 SERIES-DC
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" stone anointing: this s
Immediately inside the entrance is your first stop- Its the - 3

¢ from the cross. T
the place, according to Greek tradition, where Christ was removed he

Roman Catholics, however, believe it to be the spot where Jesus' body was prepared for

burial by Joseph.

What happened next? Jesus was buried. He was taken to a place outside the city
of Jerusalem where other graves existed and there, he was buried in a cave. However, al|
that is long gone, destroyed by continued attacks and rebuilding; what remain is the
massive - and impressive - Rotunda (a round building with a dome) that Emperor
Constantine built. Under this, and right in the centre of the Rotunda, is the structure that

contains the Holy Sepulcher.

At the start of the first century, the place was a disused quarry outside the city
walls. According to the gospels, Jesus' crucifixion occurred at a place outside the city
walls with graves nearby...". Archaeologists have discovered tombs from that era, so the
site is compatible with the biblical period. The structure at the site is a marble tomb built
over the original burial chamber. It has two rooms, and you enter four at a time into the
first of these, the Chapel of the Angel. Here the angel is supposed to have sat on a stone
to recount Christ's resurrection. A low door made of white marble, partly worn away by
pilgrims' hands, leads to a smaller chamber inside. This is the 'room of the tomb', the

place where Jesus was buried. We entered in single file. On my right was a large marble

slab that covered the original rock bench on which the body of Jesus was laid.

Q81

Q82

Which structure has sustained even after continual attacks?
(A) Chapel of Angel
-
(B) Room of Tomb
(C) Rotunda

(D) Dolorosa

Who built the Holy Sepulcher?
(A) Julius Caesar

(B) Constantine

(C)  Aphrodite

5
(®) Jesus Christ

Q83 Find the word in the passage which means 'rebirth’.

&Y Crucifixion
(B) Hemmed
(C) Massive

(D) Resurrection

PAPER-4 SERIES-DC

[34]

. Christ'?
Q84  According to Roman Catholics who buried Jesus

(A) Peter
(B) Mathew

(C) Thomas

@B Joseph

% ' b Tomb'?
Q85 Why did the pilgrims enter in a 'single file' in the 'Room of

(A) There was a large marble slab

(B) It was the original burial chamber

Q@'/ The room was very small

(D) To pray personally

Q86 AIFFHeT I et o FEE T

({»mfs'ar

(B) &HABA
(c) fe==s
(o) I

PAPER-4 SERIES-DC
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Q87 =ter g5 ', IS § HHE )
(A) TE

By T

Q88 Iz fofmit 5 o mee g2

(A) Y33
(8) U3
ey dfsz
(D) ufs3

Q89 ‘Mention’ HEIE € At Urslt wig=re & 37

(A) €3
(B) TIT"
(c) TwEwa

oy =tz

[35]
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Q90 ﬁﬁééﬁﬁaﬁ@m%—ﬁawwﬁéﬁ?m@'

(A HIE U E3T
(B) fiswrg 9 Ay HEs"
() gz mrgE

By mIFRE

I 3 Ted § fawrs ae vy 91 Ty 95 FA 2 EITFEE

b o g 3 2o bt - 1 ofget wigE o feR i e = AR
ﬁ{@?m?mﬁgsﬁwéﬁwuam@awaﬁﬁmmmﬁéfﬁ'ﬁ
s@aﬁsgﬁzﬁwﬁéfigimaaméféﬁwm%faﬁ;faﬁa’aaw

3 3 for e fem i At €8 I i A1

?ﬂw?éﬁtéﬁm@maﬁame’me@fzﬂan@e’élw,
Had, 88, m,gﬁw&ﬁwmwmaﬁlmé@mm,é&
m?ﬁaﬂﬁw@iwmaﬁeﬁmmééfwéﬁmaﬂa@éw

st feg 3

< vz Yfifa Il fovafays A3 Urremit € foR B3 T ymrerer ageit Ie:

2 fes we FigE,

yg AgE Hed B FHI

PAPER-4 SERIES-DC

Q94 rre & e F firwdt 2 frer g 2

waft

o)
()
sey ===

(D)

IEH

Uy
Q95  Urreiwt T Wy faI3T &t 37
(A) FEF@AFH
4By AF-ER
(c) T {AF

(D) sSug e AS

SECTION-5 :Digital Literacy and

Awareness
Q96 scripting is used to create Q96
dynamic webpages.
(A) Web
(B) Dos
(C) Cobol
(D) VB

[38]

ﬁaam@\?é.ﬁaﬁﬁ?

391 - 5; faviies AUT3™ W3 AAgas”
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Q97 In MS Excel 2019, which of the Q97
following keystroke is used to select

the cell above in the same column?

(A) Enter

(B) Tab

(C)  Shift + Enter
(D)  Shift + Tab

Q98 Which of the following is correct Q98
regarding text mode interaction

with computer?

L Cumbersome

1L Time consuming

III.  Limited in  scope of
operation

(A) TandIl

(B) IandIII

(C) TIandIIl

(D) I, MandII
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() Tab
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Q99

Q100

You have accidentally deleted a Q99 gﬁ’f fazerami Jt fEx Aeds fitar

slide. With which shortcut key of f&t 31 MS PowerPoint 2019 &

MS Power Point 2019 you can get it fgdt waede-dl &% FH fEFI§

back? gargT Yu3 59 e J7?
(A) Ct.rl +Z (o) Ctrl+Z
(B) . Cul+B () Ctl+B
©) Alt+z (C) At+2Z
D) Alt+B (DY Alt+B

Which of the following is NOT an Q100 Jz" fofmit f5F fayoar fiy wgaye

output device? feefor BU'T J?
(A) Keyboard | o ddeg
(B) Projector (B) I.T,ﬁa-,;-g
(C)  Monitor (C) Ndreg
(D)  Plotter D) yBeg
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